Spin of Earth about its axis
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Why the Sun sets
to the West ?



Orbital Motion of Earth about Sun
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Earth’ stilted axis and its precession
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Why do we have seasons ?

-- As the Earth orbits around the Sun (period=1 yr), the amount of Sunlight hitting N and S
hemisphere changes with time of year because ...... the Earth’s axis is.......

Summer Solstice
Morthern Hemisphere
receives its most direct
sunlight of the year

{beginning of summer);

Southern Hemisphers
receives its least direct
sunlight (beginning of
winter).

Spring Equinox

The Sun shines equally an both hemispheras,
Northern Hemisphere is entering spring: Southern
Hemisphers is entering fall,

N

Winter Solstice

i —- MNorthern Hemispher
receives its least dir
sunlight of the year
{beginning of winter)
Southern Hemispher
receives its most din
sunlight (beginning ¢
Summer).

& Mol lo scale! On the scale tha orbil is dr.
Fall Equinox Earth would be oo small i see (and the
The Sun shines equally on both hemispheres. would be a liny dot),

MNorthern Hemisphere is entering fall, Southermn
Hemisphere is entering spring.

sunlight

Summer Solstice: Midday sunlight strikes Earth
more directly in the Northern Hemisphere—
meaning the Sun is higher in the sky and casts
smaller shadows—than in the Southern Hemisphere.

Winter Solstice: The situation is reversed from the
summer solstice, with midday sunlight striking the
Southern Hemisphere more directly and the
Northern Hemisphere less directly.



